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1. In the given parallelogram, which of the following statements are true?

a) LEHD = LGHF

b) EH=GH

c) AEGD=AFGD

d) EH=HD

e) His the mid point of EG

G F

D E

(i) {c,d,e} (i) {a,b,e} (i) {c,ab} (iv) {ca} (v) {d,b}

2. In parallelogram EFGH, diagonals FH and EG intersect atl. Then EF ||
H G

E F

(i) HE (i) FH (i) EG (iv) FG (v) GH

3. In parallelogramJKLM, diagonals KM and JL intersect atN. Then LM ||
M L

) K

(i) KL (i) KM (iii) JK (iv) MJ (v) JL



4. In parallelogram PQRS, diagonals QS and PR intersect atT. Then SP ||
) R

P Q

(i) PQ (ii) PR (iii) QR (iv) RS (v) QS

5. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then OP ||
Q P

N o

(i) PQ (i) QN (i) NO (iv) OQ (v) NP

6. In parallelogramLMNO, diagonals MO and LN intersect atP. ThenLM =
0 N

L M

(i) MN (ii) NO (iii) OL (iv) MO (v) LN

7. In parallelogramJKLM, diagonals KM and JL intersect atN. ThenLM =
M L

J K

(i) JK (i) M) (i) KL (iv) KM (v) JL

8. In parallelogram LMNO, diagonals MO and LN intersect atP. ThenOL =
O N

L M

(i) NO (ii)) MO (iii)) MN (iv) LM (v) LN



9. In parallelogram BCDE, diagonals CE and BD intersect atF. ThenCD =
E D

B C

(i) BC (ii) BD (iii) DE (iv) CE (v) EB

10. In parallelogramABCD,diagonals'BD and AC intersect atE. Then ADAB =
D C

A B

(i) AABE (ii) AABC (iii) ACDA (iv) ABCD (v) ACDE

11. In parallelogram MNOP, diagonals NP and MO intersect atQ. Then ANOP =
P O

M N

(i) AOPM (ii) AMNQ (iii)) AOPQ (iv) AMNO (v) APMN

12. In parallelogramBCDE, diagonals CE and BD intersect atF. Then ADEB =
E D

B c

(i) AEBC (ii) ACDE (iii)) ABCF (iv) ABCD (v) ADEF

13. In parallelogram MNOP, diagonals NP and MO intersect atQ. Then AMNO =
P O

M N

(i) ANOP (ii) AOPM (iii) APMN (iv) AOPQ (v) AMNQ



14. In parallelogramJKLM,diagonals KM and JL intersect atN. Then LZMJK =
M L

] K

(i) £LMJ) (ii) £JKL (iii) £ZLMN (iv) ZJKN (v) ZKLM

15. In parallelogram EFGH, diagonals FH and EG intersect atl. Then ZFGH =
H G

E F

(i) £LEFG (ii) £GHE (iii) 4EFI (iv) £4GHI (v) Z4HEF

16. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then ZGHI =
] |

G H

(i) £GHK (i) £JGH (i) ZJK (iv) ZHlJ (v) ZIG

17. In parallelogram LMNO, diagonals MO and LN intersect atP. Then ZNOL =
8] N

L M

(i) £NOP (ii) £ZLMP (iii) £MNO (iv) ZLMN (v) 4OLM

18. In parallelogram CDEF, diagonals DF and CE intersect atG. ThenEG =
F E

C D

(i) FG (ii) CG (iii) DG (iv) FC (v) DE



19. In parallelogram BCDE, diagonals CE and BD intersect atF. ThenBF =
E D
B C
(i) CD (ii) DF (iii) EF (iv) CF (v) EB

20. In parallelogram]KLM, diagonals KM and JL intersect atN. ThenMN =
M L
] K
(i) LN (ii) KL (iii) JN (iv) M) (v) KN

21. In parallelogram BCDE, diagonals CE and BD intersect atF. ThenCF =
E D

B C

(i) CD (ii) EF (iii)) DF (iv) BF (v) EB

In the given figure, DEFG is a parallelogram. DF bisects £D & ZF.
" GivenDF = 9 cmandEG = 6 cm, find DE
G F

D E

(i) 4.41 cm (ii) 3.41 cm (iii) 7.41cm (iv) 6.41cm (v) 5.41 cm



In the given figure, DEFG is a parallelogram. EG is the diagonal
" such that DG = EG = EF. Given 4ZD = 55°, find LGEF
G F

D E

(i) 68° (ii) 69° (iii) 70° (iv) 72° (v) 71°

In the given figure, BCDE is a parallelogram. BP and DQ are perpendicular to the diagonal CE. Given £LQDE = 30°,
" find LECB

B C

(i) 60° (ii) 62° (iii) 58° (iv) 61° (v) 59°

25. In the given figure, IJKL is a parallelogram such that Q is the mid-point of I) and 1) = 2LI. Find £ZLQK
L K

75¢ 105°

| Q J
(i) 92° (ii) 88° (iii) 91° (iv) 89° (v) 90°



Assignment Key

1) (ii) 2) (v) 3) (iii) 4) (iii) 5) (ii) 6) (ii)
7) (i) 8) (iii) 9) (v) 10) (iv) 11) (v) 12) (iv)
13) (ii) 14) (v) 15) (v) 16) (v) 17) (iv) 18) (ii)
19) (ii) 20) (v) 21) (ii) 22) (v) 23) (iii) 24) (i)
25) (v)
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